Page 1 o0f2

MADSTAD MOTORSPORTS — INSTALLATION GUIDE

POLARIS SLINGSHOT (2015 - 2019) - BELT GUARD PART# RKPO-5515-BGK2-XX

**READ ENTIRE MANUAL PRIOR TO BEGINNING INSTALLATION**

1. Assemble the provided support bracket to the Madstad guard. Attach using the
(2) Mbx12mm Button head screws, (2) Flat plastic washers on top. Then the (2)
Flat metal washers and (2) Lock nuts go underneath. Tighten all the connections
securely.

2. Remove the OEM Belt Guard and OEM fasteners. You will not reuse any of these
parts.

3. Attach the Madstad guard (at the support bracket) to the top of the swingarm
open screw hole. Use the provided M6x16mm Button head, stacking the M6 Lock
washer & M6 Flat metal washer.

4. Then add the M6x35mm Button heads with M6 Flat plastic washers and place the
20mm spacers between the guard and the swingarm.

5. Securely tighten all bolts.

Kit Contents:

(1) Belt Guard Body Used In Step 3. (nothing for step 2.)
(1) Belt Guard Bracket (1) M6x16mm Button head screw
(1) Hardware Pack (1) M6 Locking washer

(1) M6 Flat metal washer
Hardware Pack Contents:

Used In Step 1. Used In Step 4.

(2) M6x12mm Button head screws (2) M6x35mm Button head screws
(2) M6 Flat plastic washers (2) M6 Flat plastic washers

(2) M6 Flat metal washers (2) 20mm Aluminum spacers

(2) M6 Locking nuts

MADSTAD ENGINEERING, INC. 2023




Page 2 of 2

Disclaimer

Neither MadStad Engineering, Inc. nor its owners shall be liable for any damages, consequential or inconsequential, resulting from the
use of our products. Installation of any of our products constitutes acceptance of these terms.

It is the responsibility of the user to make sure all fasteners are tightened securely, the windshield is mounted properly, and the

adjustment knobs are tightened snugly before putting the motorcycle in motion. MadStad systems ARE NOT to be adjusted while the
vehicle is in motion; you must pull over out of the way of traffic and come to a complete stop before making any changes. The user must
never place the windshield in such a position as to interfere with the safe and complete movement of the handlebars and controls.

Returns and Warranty

MadStad adjustable brackets carry a lifetime warranty against manufacturing defects. This does not include cosmetic issues nor any par
that inherently wear out or degrade over time such as rubber and plastic parts. Windshields, deflectors, and other similar plastic parts
are warrantied for 1 year against manufacturing defects, not against cosmetic issues or issues related to normal wear and tear. Please
visit our website for further details.

Madstad Motorsports
1451 E. Jefferson St.
Brooksville, Florida 34608
support@madstad.com
352-848-3644

MADSTAD ENGINEERING, INC. 2023



mailto:support@madstad.com

